
The bracket mounts on the upper inside bevel box mounting stud. Remove this nut, leave 
the washer in place, and fit the M10 Nordlock washer over the stud. Position the bracket 
over the stud with the rubber button resting on the swing arm and refit the nut using loctite 
or similar thread retaining compound.

Remove the two bolts fixing the caliper tension bar leaving the bar in place. 

Slide the hugger over the tyre with the bracket fitting on the inside of the hugger and the 
hugger fitting over the tension bar.

Re-fit the tension bar bolts and finger tighten.Re-fit the tension bar bolts and finger tighten.

Fit the two M6 x 16mm flange headed bolts with the M6 plastic washers to the bracket 
mountings with the two M6 Nyloc nuts (finger tighten).

Check hugger alignment and fully tighten all fixings.

Check all fixings periodically.

Kit Includes:
1X
2X
2X
2X
1X
1X1X

C072432
CBOLM60008
CWASM60003
CNUTM60003
CWASM100002
CFK072432 / CBUM003

Moulding
M6 X 16mm Flange Headed Bolts
M6 Plastic Washers
M6 Nyloc Nuts
M10 Nordlock Washer
Bracket + Rubber Button

072432 Yamaha XT1200Z Super Ténéré Hugger Fitting Instructions

Note: Does not fit with Akrapovič exhaust systems.
Please enquire with us to get the correct washer for the Akrapovič exhaust system.

Got questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!


